

**GENERALIZATION OF THE n^{th} -ORDER OPIAL'S INEQUALITY IN
(p, q)-CALCULUS**Mohammed Muniru Iddrisu¹, Bashiru Abubakari, and Jose López-Bonilla

ABSTRACT. We establish the generalized n^{th} -Order Opial's integral inequality via (p, q)-calculus with some extensions. The other analytical tools used to establish the results were (p, q)-Cauchy repeated integration formula and (p, q)-Cauchy-Schwarz's integral inequality.

1. INTRODUCTION

Opial established an inequality involving integral of a function and its derivative as [14]

$$(1.1) \quad \int_0^h |f(t)f'(t)|dt \leq \frac{h}{4} \int_0^h (f'(t))^2 dt,$$

where $f \in C^1[0, h]$, such that $f(0) = f(h) = 0$, $f'(t) > 0$ and $t \in [0, h]$. The coefficient $h/4$ is the best constant possible.

This inequality, due to its significance, experienced a lot of extensions and generalizations over time in the classical field [5–7, 19], among others.

¹corresponding author

2020 Mathematics Subject Classification. 05A30, 26A46.

Key words and phrases. Generalization, n^{th} -Order, Opial, Cauchy, Schwarz, inequality, (p, q)-calculus.

Submitted: 24.09.2022; Accepted: 10.10.2022; Published: 15.10.2022.

The n^{th} -order generalization of the classical Opial's inequality was also established as [19]

$$(1.2) \quad \int_a^b |f(x)f^{(n)}(x)| dx \leq \frac{(b-a)^n}{2} \int_a^b |f^{(n)}(x)|^2 dx,$$

where $f \in C^{(n)}[a, b]$ with $f^{(i)}(a) = 0$ for $0 \leq i \leq n-1$, ($n \geq 1$).

(p, q) -Calculus is a generalization of q -calculus. There has been a lot of development in the study of (p, q) -calculus. Recently, Sadjang [16] investigated on fundamental concepts of (p, q) -calculus. In [9], (p, q) -derivatives and (p, q) -integrals and their properties are also presented.

A (p, q) -analogue of a generalized Opial type inequality was established as [8]

$$(1.3) \quad \int_0^b |\omega(px)| |D_{p,q}\omega(x)| d_{p,q}x \leq \frac{b}{4} \int_0^b |(D_{p,q}\omega(x)|^2 d_{p,q}x.$$

where $\omega \in C[0, b]$ with $\omega(0) = \omega(b) = 0$ and $0 < q < p \leq 1$.

See also [1–3, 8, 12] for more analogues of the Opial's type inequalities.

The Opial inequality plays essential role in establishing the existence and uniqueness of initial and boundary values problems for both ordinary and partial differential equations [3, 8].

The main purpose of this work is to further establish a generalization of inequality (1.2) in (p, q) -calculus with some extensions.

2. PRELIMINARIES

The basic concepts of (p, q) -calculus employed in this work are presented in this section. The definitions provided can also be seen in [9, 10, 12, 13, 15, 16] and the references cited therein.

Definition 2.1. The (p, q) -derivative of a function f is defined as

$$(2.1) \quad D_{p,q}f(x) = \frac{f(px) - f(qx)}{(p-q)x}, \quad x \neq 0.$$

Definition 2.2. Let $\alpha > 0$, the (p, q) -bracket is defined as

$$(2.2) \quad [\alpha]_{p,q} = p^{\alpha-1} + p^{\alpha-2}q + \cdots + pq^{\alpha-2} + q^{\alpha-1} = \begin{cases} \frac{p^\alpha - q^\alpha}{p - q}, & (p \neq q \neq 1), \\ \frac{1 - q^\alpha}{1 - q}, & (p = 1), \\ \alpha, & (p = q = 1), \end{cases}$$

for $0 < q < p \leq 1$ and $\alpha \in \mathbf{R}$.

The (p, q) -derivative of sum or difference of f and g are defined as

$$(2.3) \quad D_{p,q}(\alpha f(x) \pm \beta g(x)) = \alpha D_{p,q}f(x) \pm \beta D_{p,q}g(x).$$

The (p, q) -derivative of product of f and g is defined as

$$(2.4) \quad \begin{aligned} D_{p,q}(f(x)g(x)) &= g(px)D_{p,q}f(x) + f(qx)D_{p,q}g(x) \\ &= f(px)D_{p,q}g(x) + g(qx)D_{p,q}f(x). \end{aligned}$$

The (p, q) -derivative of a quotient of f and g is defined as

$$(2.5) \quad \begin{aligned} D_{p,q}\left(\frac{f(x)}{g(x)}\right) &= \frac{g(px)D_{p,q}f(x) - f(px)D_{p,q}g(x)}{g(px)g(qx)} \\ &= \frac{g(qx)D_{p,q}f(x) - f(qx)D_{p,q}g(x)}{g(px)g(qx)}, \quad g(px)g(qx) \neq 0. \end{aligned}$$

Definition 2.3. Let $f : [0, b] \rightarrow \mathbf{R}$ be a continuous function and $0 < q < p \leq 1$. The definite (p, q) -integral of f on $[0, b]$ is defined as

$$(2.6) \quad \int_0^b f(x) d_{p,q}x = (p - q)b \sum_{j=0}^{\infty} \frac{q^j}{p^{j+1}} f\left(\frac{q^j}{p^{j+1}}b\right).$$

If $a \in (0, b)$, then the definite (p, q) -integral of f on $[a, b]$ is defined as

$$(2.7) \quad \int_a^b f(x) d_{p,q}x = \int_0^b f(x) d_{p,q}x - \int_0^a f(x) d_{p,q}x.$$

Remark 2.1. Letting $p = 1$ reduces equation (2.6) to the well known Jackson q -integral [11].

Definition 2.4. Let $f \in C[a, b] \rightarrow \mathbf{R}$, if f is an antiderivative of f and $x \in [a, b]$. Then

$$(2.8) \quad D_{p,q} \int_a^x f(s) d_{p,q}s = f(x)$$

and

$$(2.9) \quad \int_a^x D_{p,q}f(s) d_{p,q}s = f(x) - f(a),$$

$$(2.10) \quad \int_0^b f(x) d_qx = (1 - q)b \sum_{j=0}^{\infty} q^j f(bq^j).$$

Definition 2.5. The function f defined on $[a, b]$ is called (p, q) -increasing or (p, q) -decreasing on $[a, b]$, if $f(qx) \leq f(px)$ ($f(qx) \geq f(px)$), for $qx, px \in [a, b]$.

It is easily observed that if the function f is increasing (decreasing), then it is also (p, q) -increasing ((p, q) -decreasing).

Definition 2.6. (Fundamental Theorem of (p, q) -Calculus) If $f \in C[a, b]$ and F is an antiderivative of f defined on $x \in [a, b]$, then

$$(2.11) \quad F(x) = \int_a^x f(t) d_{p,q}t.$$

Definition 2.7. $((p, q)$ -Cauchy's Formula) Let $f \in C^{(n)}[a, b]$ be such that $D_{p,q}^{(i)}f(a) = 0$, for $i = 0, 1, 2, \dots, n-1$, ($n \geq 1$) and $0 < q < p \leq 1$, then

$$(2.12) \quad \begin{aligned} f(x) &= \int_a^x \int_a^{x_{n-1}} \cdots \int_a^{x_1} D_{p,q}^n f(s) d_{p,q}s d_{p,q}x_1 \cdots d_{p,q}x_{n-1} \\ &= \frac{1}{[n-1]!} \int_a^x (px - qs)^{n-1} f(s) d_{p,q}s. \end{aligned}$$

The proof of (p, q) -Cauchy's formula is similar to q -Cauchy's formula in [4] by mathematical induction.

Definition 2.8. $((p, q)$ -Hölder's Inequality) Let $\alpha, \beta > 1$ and $\frac{1}{\alpha} + \frac{1}{\beta} = 1$. If f and g are continuous real-valued functions on $I = [0, b]$, then [18]

$$(2.13) \quad \int_I |f(x)g(x)| d_{p,q}x \leq \left(\int_I |f(x)|^\alpha d_{p,q}x \right)^{\frac{1}{\alpha}} \left(\int_I |g(x)|^\beta d_{p,q}x \right)^{\frac{1}{\beta}}.$$

With equality when $|g(x)| = c|f(x)|^{\alpha-1}$.

If $\alpha = \beta = 2$, the inequality becomes (p, q) -Cauchy-Schwartz's Integral Inequality.

$$(2.14) \quad \int_I |f(x)g(x)| d_{p,q}x \leq \left(\int_I |f(x)|^2 d_{p,q}x \right)^{\frac{1}{2}} \left(\int_I |g(x)|^2 d_{p,q}x \right)^{\frac{1}{2}}.$$

3. RESULTS AND DISCUSSION

Lemma 3.1. Let $f \in C^{(n)}[a, b]$ be such that $D_{p,q}f^{(i)} \in L_2[a, b]$, $0 \leq i \leq n$ and $0 < q < p \leq 1$, then

$$(3.1) \quad \left(\int_a^b |D_{p,q}^{(n)} f(x)| d_{p,q}x \right)^2 \leq (b-a) \int_a^b |D_{p,q}^{(n)} f(x)|^2 d_{p,q}x.$$

Proof. Applying (p, q) -Cauchy-Schwarz's inequality, we have

$$\begin{aligned} \left(\int_a^b |D_{p,q}^{(n)} f(x)| d_{p,q}x \right)^2 &\leq \left[\left(\int_a^b 1^2 d_{p,q}x \right)^{\frac{1}{2}} \left(\int_a^b |D_{p,q}^{(n)} f(x)|^2 d_{p,q}x \right)^{\frac{1}{2}} \right]^2 \\ &= (b-a) \int_a^b |D_{p,q}^{(n)} f(x)|^2 d_{p,q}x. \end{aligned}$$

This completes the proof. \square

Theorem 3.1. Let $f \in C^{(n)}[a, b]$ be such that $D_{p,q}^{(i)} f(a) = 0$, for $0 \leq i \leq n-1$, ($n \geq 1$) and $0 < q < p \leq 1$, then

$$(3.2) \quad \int_a^b |f(x) D_{p,q}^{(n)} f(x)| d_{p,q}x \leq \frac{(b-a)^n}{2} \int_a^b |D_{p,q}^{(n)} f(x)|^2 d_{p,q}x.$$

Proof. Let $x \in [a, b]$, $D_{p,q}^{(n)} f(a) = 0$ and

$$(3.3) \quad \omega(x) = \int_a^x \int_a^{x_{n-1}} \cdots \int_a^{x_1} |D_{p,q}^{(n)} f(s)| d_{p,q}s d_{p,q}x_1 \cdots d_{p,q}x_{n-1},$$

so that

$D_{p,q}^{(n)} \omega(x) = |D_{p,q}^{(n)} f(x)|$, $\omega(x) \geq |f(x)|$ and $D_{p,q}^{(i)} \omega(x) \geq 0$, then

$$(3.4) \quad \int_a^b |f(x) D_{p,q}^{(n)} f(x)| d_{p,q}x \leq \int_a^b \omega(x) D_{p,q}^{(n)} \omega(x) d_{p,q}x.$$

Since

$$D_{p,q}^{(i)} \omega(x) \leq (x-a) D_{p,q}^{(i+1)} \omega(x), \quad x \in [a, b], \quad 0 \leq i \leq n-2,$$

it follows that

$$(3.5) \quad |f(x)| \leq \omega(x) \leq (x-a) D_{p,q} \omega(x) \leq \cdots \leq (x-a)^{(n-1)} D_{p,q}^{(n-1)} \omega(x).$$

Applying (3.5) to (3.4)) we have

$$\begin{aligned}
 \int_a^b |f(x) D_{p,q}^{(n)} f(x)| d_{p,q} x &\leq \int_a^b (x-a) D_{p,q} \omega(x) D_{p,q}^{(n)} \omega(x) d_{p,q} x \\
 &\leq \int_a^b (x-a)^2 D_{p,q}^{(2)} \omega(x) D_{p,q}^{(n)} \omega(x) d_{p,q} x \\
 &\vdots \\
 &\leq \int_a^b (x-a)^{(n-1)} D_{p,q}^{(n-1)} \omega(x) D_{p,q}^{(n)} \omega(x) d_{p,q} x \\
 &= (b-a)^{n-1} \int_a^b D_{p,q}^{(n-1)} \omega(x) D_{p,q}^{(n)} \omega(x) d_{p,q} x \\
 &= \frac{(b-a)^{n-1} \left[D_{p,q}^{(n)} \omega(b) \right]^2}{2} \\
 (3.6) \quad &= \frac{(b-a)^{n-1}}{2} \left(\int_a^b |D_{p,q}^{(n)} f(x)| d_{p,q} x \right)^2.
 \end{aligned}$$

By Lemma (3.1), we obtain

$$(3.7) \quad \int_a^b |f(x) D_{p,q}^{(n)} f(x)| d_{p,q} x \leq \frac{(b-a)^{n-1}(b-a)}{2} \int_a^b |D_{p,q}^{(n)} f(x)|^2 d_{p,q} x,$$

which yields

$$\int_a^b |f(x) D_{p,q}^{(n)} f(x)| d_{p,q} x \leq \frac{(b-a)^n}{2} \int_a^b |D_{p,q}^{(n)} f(x)|^2 d_{p,q} x.$$

This complete the proof. □

Remark 3.1. For $n = 1$, inequality (3.2) reduces to

$$(3.8) \quad \int_a^b |f(x) D_{p,q} f(x)| d_{p,q} x \leq \frac{(b-a)}{2} \int_a^b |D_{p,q} f(x)|^2 d_{p,q} x,$$

which is the (p, q) -analogue of the Opial's inequality established in [17].

Lemma 3.2. Let $f \in C^{(n-1)}[a, b]$ be absolutely continuous such that $D_{p,q}^{(i)} f(a) = 0$, for $0 \leq i \leq n-1$, ($n \geq 1$), $x \in [a, b]$ and $0 < q < p \leq 1$. Then

$$(3.9) \quad \int_a^x (px - qs)^{n-1} |D_{p,q}^{(n)} f(s)| d_{p,q} s = \frac{(px - qa)^{n-\frac{1}{2}}}{[2n-1]_{p,q}^{\frac{1}{2}}} \left(\int_a^x |D_{p,q}^n f(s)|^2 d_{p,q} s \right)^{\frac{1}{2}}$$

holds.

Proof. By (p, q) -Cauchy-Schwartz's Inequality we have

$$\begin{aligned}
 & \int_a^x (px - qs)^{n-1} |D_{p,q}^{(n)} f(s)| d_{p,q}s \\
 & \leq \left(\int_a^x (px - qs)^{2(n-1)} d_{p,q}s \right)^{\frac{1}{2}} \left(\int_a^x |D_{p,q}^n f(s)|^2 d_{p,q}s \right)^{\frac{1}{2}} \\
 & = \left((p - q)(px - qa) \sum_{j=0}^{\infty} \frac{q^j}{p^{j+1}} \left(\frac{q^j}{p^{j+1}} (px - qa) \right)^{2(n-1)} \right)^{\frac{1}{2}} \left(\int_a^x |D_{p,q}^n f(s)|^2 d_{p,q}s \right)^{\frac{1}{2}} \\
 & = \left((p - q) \sum_{j=0}^{\infty} \frac{q^{(2n-1)j}}{p^{(2n-1)j+2n-1}} (px - qa)^{2n-1} \right)^{\frac{1}{2}} \left(\int_a^x |D_{p,q}^n f(s)|^2 d_{p,q}s \right)^{\frac{1}{2}} \\
 & = \left(\frac{(p - q)}{p^{2n-1} - q^{2n-1}} (px - qa)^{2n-1} \right)^{\frac{1}{2}} \left(\int_a^x |D_{p,q}^n f(s)|^2 d_{p,q}s \right)^{\frac{1}{2}} \\
 & = \frac{(px - qa)^{n-\frac{1}{2}}}{[2n - 1]_{p,q}^{\frac{1}{2}}} \left(\int_a^x |D_{p,q}^n f(s)|^2 d_{p,q}s \right)^{\frac{1}{2}}.
 \end{aligned}$$

□

Theorem 3.2. Let $f \in C^{(n-1)}[a, b]$ be such that $D_q f^{(i)}(a) = 0$, for $0 \leq i \leq n - 1$, ($n \geq 1$). Also, let $D_{p,q}^{(n-1)} f(x)$ be absolutely continuous and $\int_a^b |D_{p,q}^n f(x)|^2 d_{p,q}x < \infty$, Then

$$(3.10) \quad \int_a^b |f(x) D_{p,q}^n f(x)| d_{p,q}x \leq K (pb - qa)^n \int_a^b |D_{p,q}^n f(x)|^2 d_{p,q}x,$$

where $K = \frac{n}{n! \sqrt{2[2n]_q [2n-1]_{p,q}}}$.

Proof. Let $x \in [a, b]$. By applying the Cauchy's formula (2.12) we have

$$(3.11) \quad f(x) = \frac{1}{(n-1)!} \int_a^x (px - qs)^{n-1} D_{p,q}^n f(s) d_{p,q}s.$$

This implies

$$(3.12) \quad |f(x) D_{p,q}^n f(x)| = \frac{|D_{p,q}^n f(x)|}{(n-1)!} \int_a^x (px - qs)^{n-1} |D_{p,q}^n f(s)| d_{p,q}s.$$

Applying Lemma (3.2) yields

$$(3.13) \quad |f(x) D_{p,q}^n f(x)| \leq \frac{|D_{p,q}^n f(x)|}{(n-1)!} \frac{(px - qa)^{n-1/2}}{[2n - 1]_{p,q}^{1/2}} \left(\int_a^x |D_{p,q}^n f(s)|^2 d_{p,q}s \right)^{1/2}.$$

Integrating (3.13) over $[a, b]$ with respect to x gives

$$(3.14) \quad \int_a^b |f(x) D_{p,q}^n f(x)| d_{p,q}x \leq \frac{1}{(n-1)! [2n-1]_{p,q}^{1/2}} \cdot \int_a^b (px - qa)^{n-1/2} |D_{p,q}^n f(x)| \left(\int_a^x |D_{p,q}^n f(s)|^2 d_{p,q}s \right)^{1/2} d_{p,q}x.$$

Applying (p, q) -Cauchy-Schwartz's inequality to the right-hand of (3.14) we obtain

$$\begin{aligned} \int_a^b |f(x) D_{p,q}^n f(x)| d_{p,q}x &\leq \frac{1}{(n-1)! [2n-1]_{p,q}^{1/2}} \left(\int_a^b (px - qa)^{2n-1} d_{p,q}x \right)^{\frac{1}{2}} \\ &\quad \cdot \left(\int_a^b |D_{p,q}^n f(x)|^2 \left(\int_a^x |D_{p,q}^n f(s)|^2 d_{p,q}s \right) d_{p,q}x \right)^{\frac{1}{2}} \\ &= \frac{1}{(n-1)! [2n-1]_{p,q}^{1/2}} \left((p-q)(pb-qa) \sum_{j=0}^{\infty} \frac{q^j}{p^{j+1}} \left(\frac{q^j}{p^{j+1}} (pb-qa) \right)^{(2n-1)} \right)^{\frac{1}{2}} \\ &\quad \times \left(\frac{1}{2} \int_a^b D_{p,q} \left(\int_a^x |D_{p,q}^n f(s)|^2 d_{p,q}s \right)^2 d_{p,q}x \right)^{\frac{1}{2}} \\ &= \frac{1}{(n-1)! [2n-1]_{p,q}^{1/2}} \left((p-q) \sum_{j=0}^{\infty} \frac{q^{2nj}}{p^{2nj+2n}} (pb-qa)^{(2n)} \right)^{\frac{1}{2}} \sqrt{\frac{1}{2}} \int_a^b |D_{p,q}^n f(x)|^2 d_{p,q}x \\ &= \frac{1}{(n-1)! [2n-1]_{p,q}^{1/2}} \sqrt{\frac{1}{2}} \left(\frac{(p-q)}{p^{2n} - q^{2n}} (pb-qa)^{(2n)} \right)^{\frac{1}{2}} \int_a^b |D_{p,q}^n f(x)|^2 d_{p,q}x \\ &= \frac{1}{(n-1)! [2n-1]_{p,q}^{1/2}} \sqrt{\frac{1}{2}} \left(\frac{(pb-qa)^{2n}}{[2n]_{p,q}} \right)^{\frac{1}{2}} \int_a^b |D_{p,q}^n f(x)|^2 d_{p,q}x \\ &= \frac{(pb-qa)^n}{(n-1)! [2n-1]_{p,q}^{1/2} [2n]_{p,q}^{1/2}} \frac{1}{2^{1/2}} \int_a^b |D_{p,q}^n f(x)|^2 d_{p,q}x \\ &= \frac{n}{n! \sqrt{2[2n]_q [2n-1]_{p,q}}} (pb-qa)^n \int_a^b |D_{p,q}^n f(x)|^2 d_{p,q}x. \end{aligned}$$

Thus

$$\int_a^b |f(x) D_{p,q}^n f(x)| d_{p,q}x \leq K (pb-qa)^n \int_a^b |D_{p,q}^n f(x)|^2 d_{p,q}x,$$

which completes the proof. \square

Remark 3.2. For $n = 1$ in (3.10), we have

$$(3.15) \quad \int_a^b |f(x) D_{p,q} f(x)| d_{p,q} x \leq \frac{(pb - qa)}{\sqrt{2(p+q)}} \int_a^b |D_{p,q} f(x)|^2 d_{p,q} x,$$

which is the (p, q) -analogue of the Opial's inequality established in [17].

Remark 3.3. Inequality (3.10) is sharper than (3.2) when $n \geq 2$ as $q \rightarrow 1$.

Theorem 3.3. Let $r, s > 0$ satisfying $\beta = s + r > 1$. Also, let $f \in C^n[a, b]$ such that $D_{p,q}^{(i)} f(a) = 0$, $0 \leq i \leq n - 1$ ($n \geq 1$), $D_{p,q}^{n-1} f$ is absolutely continuous with $\int_a^b |D_{p,q}^n f(x)|^\beta d_{p,q} x < \infty$. Then

$$(3.16) \quad \int_a^b |f(x)|^s |D_{p,q}^n f(x)|^r d_{p,q} x \leq M (pb - qa)^{ns} \int_a^b |D_{p,q}^n f(x)|^\beta d_{p,q} x,$$

where

$$(3.17) \quad M = \phi r^{r\phi} \left(\frac{n [\beta n]_{p,q}^\phi}{\left[\frac{\beta n - 1}{\beta - 1} \right]_{p,q}^{1-\phi}} \right)^s (n!)^{-s}, \quad \phi = (\beta)^{-1}.$$

Proof. Let $x \in [a, b]$. By (2.12) we have

$$(3.18) \quad f(x) = \frac{1}{(n-1)!} \int_a^x (px - qs)^{n-1} D_{p,q}^n f(s) d_{p,q} s.$$

Applying Hölder's inequality with $\alpha = \frac{s+r}{s+r-1}$ and $\beta = s + r$ on (3.18) we obtain

$$\begin{aligned} |f(x)| &= \frac{1}{(n-1)!} \left(\int_a^x (px - qs)^{\alpha(n-1)} d_{p,q} s \right)^{\frac{1}{\alpha}} \left(\int_a^x |D_{p,q}^n f(s)|^\beta d_{p,q} s \right)^{\frac{1}{\beta}} \\ &= \frac{1}{(n-1)!} \left((p-q)(px - qa) \sum_{j=0}^{\infty} \frac{q^j}{p^{j+1}} \left(\frac{q^j}{p^{j+1}} (px - qa) \right)^{\alpha(n-1)} \right)^{\frac{1}{\alpha}} \\ &\quad \cdot \left(\int_a^x |D_{p,q}^n f(s)|^\beta d_{p,q} s \right)^{\frac{1}{\beta}} \end{aligned}$$

$$\begin{aligned}
&= \frac{1}{(n-1)!} \left((p-q) \sum_{j=0}^{\infty} \frac{q^{(\alpha(n-1)+1)j}}{p^{(\alpha(n-1)+1)j+(\alpha(n-1)+1)}} (px-qa)^{\alpha(n-1)+1} \right)^{\frac{1}{\alpha}} \\
&\quad \cdot \left(\int_a^x |D_{p,q}^n f(s)|^{\beta} d_{p,q}s \right)^{\frac{1}{\beta}} \\
&= \frac{1}{(n-1)!} \left(\frac{(p-q)}{p^{(\alpha(n-1)+1)} - q^{(\alpha(n-1)+1)}} (px-qa)^{(\alpha(n-1)+1)} \right)^{\frac{1}{\alpha}} \left(\int_a^x |D_{p,q}^n f(s)|^{\beta} d_{p,q}s \right)^{\frac{1}{\beta}} \\
&= \frac{1}{(n-1)!} \left(\frac{p-q}{p^{(\alpha(n-1)+1)} - q^{(\alpha(n-1)+1)}} \right)^{\frac{1}{\alpha}} (px-qa)^{(n-1)+\alpha-1} \left(\int_a^x |D_{p,q}^n f(s)|^{\beta} d_{p,q}s \right)^{\frac{1}{\beta}} \\
&= \frac{n}{n! [\alpha(n-1) + 1]_{p,q}^{\frac{1}{\alpha}}} (px-qa)^{(n-1)+\alpha-1} \left(\int_a^x |D_{p,q}^n f(s)|^{\beta} d_{p,q}s \right)^{\frac{1}{\beta}}.
\end{aligned}$$

Letting

$$A = \frac{n}{n! [\alpha(n-1) + 1]_{p,q}^{\frac{1}{\alpha}}}$$

Thus, we have

$$\begin{aligned}
&\int_a^b |f(x)|^s |D_{p,q}^n f(x)|^r d_{p,q}x \leq \\
(3.19) \quad &A^s \int_a^b (px-qa)^{s((n-1)+\alpha-1)} |D_{p,q}^n f(x)|^r \left(\int_a^x |D_{p,q}^n f(s)|^{\beta} d_{p,q}s \right)^{\frac{s}{\beta}} d_{p,q}x.
\end{aligned}$$

Applying (p, q) -Hölder's inequality with indices $\frac{\beta}{s}$ and $\frac{\beta}{r}$ on the right-hand side of (3.19) we obtain

$$\begin{aligned}
&\int_a^b |f(x)|^s |D_{p,q}^n f(x)|^r d_{p,q}x \leq A^s \left(\int_a^b (px-qa)^{\beta((n-1)+\alpha-1)} d_{p,q}x \right)^{\frac{s}{\beta}} \\
&\quad \cdot \left(\int_a^b |D_{p,q}^n f(x)|^{\beta} \left(\int_a^x |D_{p,q}^n f(s)|^{\beta} d_{p,q}s \right)^{s/r} d_{p,q}x \right)^{\frac{r}{\beta}} \\
&= A^s \left((p-q)(pb-qa) \sum_{j=0}^{\infty} \frac{q^j}{p^{j+1}} \left(\frac{q^j}{p^{j+1}} (pb-qa) \right)^{\beta((n-1)+\alpha-1)} \right)^{\frac{s}{\beta}}
\end{aligned}$$

$$\begin{aligned}
& \cdot \left(\frac{r}{\beta} \int_a^b D_{p,q} \left(\int_a^x |D_{p,q}^n f(s)|^\beta d_{p,q}s \right)^{\frac{s}{r}+1} d_{p,q}x \right)^{\frac{r}{\beta}} \\
&= A^s \left((p-q) \sum_{j=0}^{\infty} \frac{q^{(\beta((n-1)+\alpha^{-1})+1)j}}{p^{(\beta((n-1)+\alpha^{-1})+1)j+(\beta((n-1)+\alpha^{-1})+1)}} (pb-qa)^{(\beta((n-1)+\alpha^{-1})+1)} \right)^{\frac{s}{\beta}} \\
& \cdot \left(\frac{r}{\beta} \int_a^b D_{p,q} \left(\int_a^x |D_{p,q}^n f(s)|^\beta d_{p,q}s \right)^{\frac{\beta}{r}} d_{p,q}x \right)^{\frac{r}{\beta}} \\
&= A^s \left(\frac{(p-q)}{p^{\beta n} - q^{\beta n}} (pb-qa)^{\beta n} \right)^{\frac{s}{\beta}} \phi r^{r\phi} \int_a^b |D_{p,q}^n f(x)|^\beta d_{p,q}x \\
&= A^s \left(\frac{(p-q)}{p^{\beta n} - q^{\beta n}} \right)^{\frac{s}{\beta}} (pb-qa)^{ns} \phi r^{r\phi} \int_a^b |D_{p,q}^n f(x)|^\beta d_{p,q}x \\
&= \phi r^{r\phi} \frac{A^s}{[\beta n]_{p,q}^{s\phi}} (pb-qa)^{ns} \int_a^b |D_{p,q}^n f(x)|^\beta d_{p,q}x \\
&= \phi r^{r\phi} \left(\frac{n [\beta n]_{p,q}^\phi}{\left[\frac{\beta n-1}{\beta-1} \right]_{p,q}^{1-\phi}} \right)^s (n!)^{-s} (pb-qa)^{ns} \int_a^b |D_{p,q}^n f(x)|^\beta d_{p,q}x.
\end{aligned}$$

This completes the proof. □

Hence,

$$(3.20) \quad \int_a^b |f(x)|^s |D_{p,q}^n f(x)|^r d_{p,q}x \leq M (pb-qa)^{ns} \int_a^b |D_{p,q}^n f(x)|^\beta d_{p,q}x.$$

Remark 3.4. Taking $n = 1$ in (3.16) yields

$$(3.21) \quad \int_a^b |f(x) D_{p,q} f(x)| d_{p,q}x \leq \sqrt{\frac{p+q}{2}} (pb-qa) \int_a^b |D_{p,q} f(x)|^2 d_{p,q}x.$$

ACKNOWLEDGMENT

The Authors are grateful to the anonymous reviewers.

REFERENCES

- [1] B. ABUBAKARI, M.M. IDDRISU, K. NANTOMAH: *On Generalized Opial's Integral Inequalities in q -Calculus*, J. Adv. Math. Comput. Sci. **35**(4) (2020), 106–114.
- [2] B. ABUBAKARI, M.M. IDDRISU, K. NANTOMAH: *ON (p,q) -Analogues of Some Generalized Opial's Integral Inequalities*, J. Math. Comput. Sci. **11**(6) (2021), 6773–6785.
- [3] N. ALP, C.C. BILISIK, M. Z. SARIKAYA: *On q -Opial type inequality for quantum integral*, Filomat, **33**(13) (2019), 4175–4184.
- [4] W.A. AL-SALAM: *q -Analogues of Cauchy's Formulas* Proc., Amer. Math. Soc. **17** (1966), 616–621.
- [5] P.R. BEESACK: *On an integral inequality of Z. Opial*, Trans., Amer Math. Soc., **104**(3) (1962), 470–475.
- [6] J. CALVERT: *Some generalizations of Opial's inequality*, Proc. Amer. Math. Soc., **18**(1) (1967), 72–75.
- [7] K.M. DAS: *An inequality similar to Opial's inequality*, Proc. Amer. Math. Soc., **22**(1) (1969), 258–261.
- [8] E. GOV, O. TASBOZAN: *Some quantum estimates of Opial inequality and some of its generalizations*, NTMSCI, **6**(1) (2018), 76–84.
- [9] V. GUPTA, T.M. RASSIAS, P.N. AGRAWAL, A.M. ACU: *Recent Advances in Constructive Approximation Theory*, Springer Optimization and Its Applications, Springer, Switzerland, 2018.
- [10] F.H. JACKSON: *On a q -definite integrals*, Quart. J. Pure Appl. Math., **41**(16) (1910), 193–202.
- [11] V. KAC, P. CHEUNG: *Quantum Calculus*, Springer, New York, 2002.
- [12] M.A. LATIF, M. KUNT, S.S. DRAGOMIR, I. ISCAN: *Post-quantum trapezoid type inequalities*, AIMS Mathematics, **5**(4) (2020), 4011–4026.
- [13] M. NASIRUZZAMAN, A. MUKHEIMER, M. MURSALEEN: *Some Opial-type integral inequalities via (p,q) -calculus*, J Inequal Appl., **2019** (2019), Article 295.
- [14] Z. OPIAL: *Sur une inegaliti.*, J. de Ann Polon. Math., **8**(1) (1960), 29–32.
- [15] J. PRABSEANG, K. NONLAOPON, J. TARIBOON: *(p, q) -Hermite–Hadamard Inequalities for Double Integral and (p,q) -Differentiable Convex Functions*, Axioms, **8**(2) (2019), Article 68.
- [16] P.N. SADJANG: *On the fundamental theorem of (p,q) -calculus and some (p,q) -Taylor formulas*, Results of Mathematics, **73**(1) (2018), 15 pages.
- [17] M.Z. SARIKAYA: *On the generalization of Opial type inequality for convex function*, Konuralp J. Math., **7**(2) (2018), 456–461.
- [18] M. TUNÇ AND E. GÖV : *Some Integral Inequalities via (p,q) -Calculus on Finite Intervals*, RGMIA Res. Rep. Coll. **19** (2016), Art 95.
- [19] D. WILLET: *The existence-uniqueness theorem for an n th order linear ordinary differential equation*, Amer. Math. Monthly, **75**(2) (1968), 174–178.

DEPARTMENT OF MATHEMATICS

C.K. TEDAM UNIVERSITY OF TECHNOLOGY AND APPLIED SCIENCES

NAVASCO ROAD, NAVRONGO,

GHANA.

Email address: middrisu@cktutas.edu.gh

DEPARTMENT OF MATHEMATICS

UNIVERSITY FOR DEVELOPMENT STUDIES

DUNGU, TAMALE,

GHANA.

Email address: abashiru@uds.edu.gh

ESIME-ZACATENCO

INSTITUTO POLITÉCNICO NACIONAL, EDIF. 4

COL. LINDAVISTA CP 07738, CDMX,

MÉXICO.

Email address: jlopezb@ipn.mx